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QUESTION 1

The Applications DBA is tasked with applying 10 patches for the Accounts Receivable product. There is no order for
applying the patches. According to readme.txt of two patches, only the database drivers should be applied. These
patches are 135792 and 246813. Review this list of steps that the DBA is considering: 

A. Merge 8 of the 10 patches, excluding 135792 and 246813. 

B. Merge the patches 135792 and 246813. 

C. Merge all 10 patches. 

D. Apply cmerged1.drv. 

E. Apply dmerged1.drv. 

F. Apply gmerged1.drv. 

G. Apply cmerged2.drv. 

H. Apply dmerged2.drv. 

I. Apply gmerged2.drv. 

J. Apply cmerged.drv. 

K. Apply dmerged.drv. 

L. Apply gmerged.drv. 

M. Rename cmerged.drv as cmerged1.drv. 

N. Rename dmerged.drv as dmerged1.drv. 

O. Rename gmerged.drv as gmerged1.drv. 

P. Rename cmerged.drv as cmerged2.drv. 

Q. Rename dmerged.drv as dmerged2.drv. 

R. Rename gmerged.drv as gmerged2.drv. 

Which set of steps would meet the requirement? 

A. C, J, K, L 

B. B, K, C, J, K, L 

C. A, J, K, L, B, K 

D. A, J, K, L, B, J, K, L 

E. B, N, A, M, N, O, D, E, F 

F. A, M, N, O, B, P, Q, R, D, E, F, G, H, I 
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Correct Answer: C 

 

 

QUESTION 2

Your patch was applied and finished without encountering any error during the process. Which is NOT a correct part of
the postpatch process? 

A. updating the MLS 

B. removing any obsolete files 

C. restarting all server processes 

D. cleaning up the log, restarting and out directories 

E. pinning packages and sequences in the System Global Area 

F. performing any manual steps on the basis of readme.txt of the patch 

G. using the Change Maintenance Mode option of AD Administration to enable maintenance mode 

Correct Answer: G 

 

QUESTION 3

What are the three benefits of the Oracle Applications Tablespace Model? (Choose three.) 

A. takes advantage of manual segment management 

B. simplifies maintenance and recovery by using fewer tablespaces 

C. uses locally managed tablespaces, and enables more control over unused space 

D. decreases block-packing compared to the older model, increasing the overall number of buffer gets 

E. makes best use of the restricted number of raw devices available in Real Application Clusters (RAC) andother
environments 

Correct Answer: BCE 

 

QUESTION 4

You have to perform a two-node installation of Oracle Applications Release 12. The configuration should be the
following: Application Database and Concurrent Processing should be deployed on Server A, and Web and Forms
services should be deployed on Server B. Which services should you install on the respective nodes? (Choose two.) 

A. Web Entry Point Services on Server B 

B. Batch Processing Services on Server A 
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C. Batch Processing Services and Other Service Group on Server A 

D. Root Services, Batch Processing Services, and Other Service Group on Server A 

E. Root Services, Web Entry Point Services, and Web Application Services on Server B 

Correct Answer: BE 

 

QUESTION 5

Identify three features that INST_TOP supports. (Choose three.) 

A. read-only file systems 

B. centralization of log files 

C. centralization of all JSP files 

D. centralization of data files and control files 

E. centralization of application and database server control scripts 

F. sharing of APPL_TOP and technology stack among multiple instances 

Correct Answer: ABF 
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